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MATHEMATICS
Module 6
Standard 4
Section 2
Multiplication and Division of Fr
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When I have completed this section,I will be able to: multiply fractions by whole numbers calculate fractions of a collection or setcalculate the whole given a partdescribe patterns resulting from the multiplication of fractions by whole numberssolve a variety of real-life problems involving multiplication of fractions
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INTRODUCTION 
The Mathematics E Book Modules is a compilation of content based on the topic Fractions across the levels of Innt One to Form Five. The content develops sequentially to lay the undational prerequisites r Fractions at the early levels, and then progresses to rmal actional concepts and their applications through the use of the area, linear and set models at the higher levels. Sudents' engagement with the E Book Modules will encourage the development of mathematical knowledge and numeracy skills such as communication, problem solving, critical thiking, representation and reasoning, through sel-directed leaing. The development of Number Sense is a cental ature of the modules, which is critical r solving realli problems. The materials are presented through the use of graphics, audio and digital elements such as animations, to capure stdents' interest and ster a love r leaing Mathematics. The provision of immediate edback aer completion of activities and exercises enhances students' metacognition which in t suports their understanding of mathematical content. Teachers can use this body of work as a model, as it reﬂects the Concrete Pictorial Abstract (C) approach which is ndaental to the teaching and leaing of Mathematics. The Ministr of Education of rinidad and Tobago wishes to express its sincere appreciation to all those who contibuted to the design, development and implementation of the Mathematics E Book Modules: CAF Development Bank ICEF MOE ICT Division, Education Technology Unit, Procurement Unit, Curriculum Planning and Development Division. 
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User 
Instructions 
This section will provide you with a quick overview of how to use and complete the interactive activities in this eBook General  
●When responding to questions, insert your answers by typing in the input box. Please do not type your answer with anyadditional spaces at the start or end or end of the answer or it will automatically be marked incorrect.Navi
gati
o
n & 
Buttons  
To 
play 
audio click 
the 
audio 
icon 
To 
move 
forward, 
click 
the 
arrow at the 
far 
right
To 
skip track 
click the forward 
icon 
To 
move 
backward, 
click the 
arrow at 
the 
far 
left  
To 
skip track 
click the forward 
icon 
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2MULTIPLICATION INVOLVING FRACTIONSMultiply a Proper Fraction by a Whole NumberSection 2 Multiplication and Division of Fr
actions
 Proper fractions are used to describe fractions that are less than one e.g.  Improper fractions are used to describe fractions that are more than 1 e.g.    . I can change improper fractions to mixed numbers.  A mixed number is another form of writing the improper fraction to show how        many wholes and parts. e.g.      = 1     .W
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3How can we solve problems when we have to multiply a fraction by a whole number?Problem: Mrs. Lawson gave her 3 children    of a grapefruit each. How many slices of grapefruit did Mrs. Lawson share altogether?We need to solve the following:  1) 3 x     =We can use real objects to solve the problem.Here Mrs. Lawson starts with a whole grapefruit. This is her grapefruit cut into fifths. She wants to share 3 groups of two slices (   ) with her children.25K
e
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4Would Mrs. Lawson have enough slices if she uses only one grapefruit?                              +                                  +When she counts the grapefruit slices, she will get 6 fifths. This can be written    . Remember that you can change an improper fraction to a mixed number.The answer is 1    .3 x     = 1 We can draw models to solve the problem.3 x     =First, I draw and shade my 3 groups of two-fifths.65K
e
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25151525123and another2525and another25
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5Then we count each fifth separately. There are 6 fifths altogether.We can then represent my 6 fifths like this.We can see that 6 fifths are the same as 1 whole and 1 fifth.Therefore, we can write 3 x     =      or 1  We can use a number line to solve the problem.3 x     =Our denominator (family name) is fifths. Therefore, we break up our number line into fifths.Next, we write the fraction names.Then, we can group my 3 sets of two-fifths (   ) using our arrows to jump repeatedly.  25132651525015253545556575859510511512513514515525132
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6When we are jumping the same number of spaces forward repeatedly, we are doing repeated addition. Our third arrow which represents the third jump, has reached six-fifths (   ).3 x     =     or 1 We can add to solve the problem.Remember that we can use repeated addition when multiplying.3 x     =We re-write the problem as:     +     +     =  Then we add our numerators.     +     +     =      = 1 Here we did repeated addition without using a number line. Hin
t
Hin
t
65652515252525252525256515
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Is there a rule that we can use?We can look for a pattern first.  This can help us discover a rule that we can use to solve the problem.We already worked the following.3 x      =      or 1 Work out two more to see if there is a pattern that we can use.  2) 5 x     = Use repeated addition to solve each of them. Remember to change an improper fraction to a mixed number.     +     +     +     +      =      = 1 Our answer is     or 1   .2565We can use a rule to solve the problem.1514141414141454145414
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8  3) 2 x     =      +      =       = 1 Our answer is     or 1 Now, look carefully at all three problems and their answers.Is there a pattern? Did you discover a pattern?You can discuss with your classmates.6767671275712757P
r
obl
ems
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 x25    +     +     =      =  1 25252565155
 x14    +     +     +      +     =     =  1 141414541414142
 x67    +     =      =  1 676712757YE
S
NO
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9A Rule That We Can Use to Multiply a Fraction by a Whole NumberDid you remember that we can write a whole number as a fraction without losing its value? For example, we can write 3 x     as      x Now, we can multiply our numerators. Next, we can multiply our denominators. My answer is     or 1 K
e
y Que
s
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?
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e
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dea
  1) Write the whole number as a fraction.   2) Multiply numerator by numerator.  3) Multiply denominator by denominator.  4) The new fraction is the solution.  5) If the answer is an improper fraction you can express as a mixed number.3125251565
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10Reminders:   1) The number 1 is the identity number for multiplication and division.       When you multiply or divide any number by 1, the answer is the same number.        Its identity does not change.        Examples: 5 X 1 = 5,      X 1 =   2) Change improper fractions to mixed numbers.  3) Use common factors to reduce fractions if this is necessary. 1212If I multiply 3 x     =, will my answer be different than if I multiply     x 3 =?K
e
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Try these problems. Use any of the strategies you learnt so far.1)  Mr. Ryan wants to cut lengths of rope of    metres each. He needs 5 pieces of rope.     How many metres of rope will he need?2)  Ms. Jack has to put flour into     cups portions to give to her 15 students for cooking class.     How many cups of flour did Ms. Jack use in total?3)  Ellie eats     of a cup of cornflakes daily. The box of cornflakes contains a total of 27 cups.      How many days will Ellie take to finish the box of cornflakes?4)  Samuel is training for sports day. He runs      kilometre every day.     How many kilometres will he run in 6 days?684523710P
r
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ice
Use any of the strategies you learnt to work out the questions below. 1) 6    x        = 2) 3    x        =     3) 8    x        =233416
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A.  Write the multiplication sentence that is represented on the number line.B.  Use the model below to complete the multiplication sentences.You can count to verify your answer. 12Cha
l
l
en
g
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0123420 x
Hin
t
x
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Solve   10 x     1)  Explain the steps you used to solve the problem.         Remember: Reduce your answer to the lowest terms if necessary.    2) Write a story problem that can be solved by working out 10 x 2525
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Timothy has 21 toy cars of which    of them are blue. How many of Timothy’s toy cars are blue?    
1) First draw all the cars.    2) Can you place the cars into 7 equal groups?      Make your groups.       Each group will have    of the total number of cars.   3) Colour one of the groups of cars blue.      How many cars did you colour blue?1717Fraction of a Set
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Look at this question again. Timothy has 21 toy cars of which     of them are blue. How many toy cars are blue? The question said, ’    of them are blue’.Therefore, you can write    of 21  cars are blue.Can you solve without drawing the cars? Discuss with your classmates.  What have you discovered? Which of the four operations did you use to get the answer 3?Try this question on your own.  1)    of 30 =  17171716
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Solve these problems. 1) David had 30 mangoes. He gave     of them to his neighbour.    a) How many mangoes did David give away?   b) How many mangoes does he have left?2) Five ninths of some pawpaws are ripe. If there are 36 pawpaws, how many of them are ripe?3) Michela has 18 laps to walk around the playing field. She has already completed     of the laps.          How many laps has Michela completed?4) In the school’s library there were 56 books available for the students of the Standard 2 class    to borrow. Six sevenths of the books were borrowed.    a) How many books were borrowed?   b) How many books were still available?5) Ian planted 45 seedlings. Two ninths of them were pigeon peas and the rest were corn.    a) How many seedlings were pigeon peas?   b) How many seedlings were corn?31046










[image: background image]
17Extr
a P
r
a
c
t
i
c
e
A
.
  Use the mo
dels t
o sol
v
e the p
r
obl
ems 
1)        of                =                                                            2)       of                 = 3)       of                 =B.Solve the problems below. 1)        of 36 =2)       of 35 =3)       of 44 =4)       of 60 =475826      =234512410
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Solve the following sets of problems. Use models if necessary.Describe the pattern you observe for each set of solutions. Create and describe other patterns using multiplication of fractions and whole numbers. Jo
u
r
n
a
l
These questions were discussed in earlier activities.  Write your explanations and examples in your journal. 1)  What is the Commutative Property for multiplication? Use an example along with your explanation. 2)  What is the identity number for multiplication? Use an example along with your explanation. A. 5    x        =  5    x        =      5    x        =      5    x        =      5    x        =      5    x        =      5    x        =      5    x        =      5    x        =      5    x        =1102103104105106107108109101010B. 12    x        =  12    x        =      12    x        =      12    x        =      12    x        =      12    x        =      12    x        =      12    x        =      1828384858687888
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19Calculate the Whole when given a part as a Unit FractionProblem: There are 20 cheese sandwiches for sale in the cafeteria. This is one eighth of the total number of sandwiches being sold. How many sandwiches are there altogether being sold in the cafeteria?Since the denominator (family name) is eighths, it means that there are eight equal parts. First, we draw a model showing 8 equal parts. Each part is named    .   is called the unit fraction. It represents one part of the 8 parts.Next, we can say that 20 cheese sandwiches represent    of the sandwiches.Therefore, each part has 20. There are 8 parts. This means that the total is 20 x 8 sandwiches. There are 160 sandwiches altogether.  18181820 cheesesandwichespartwhole1818181818181818
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A fraction whose numerator is 1, is representing only one part of all the equal parts of the whole. It is called the unit fraction. The denominator tells us how many equal parts in which we have divided the whole. 
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Try these problems. Draw models to help you solve.1)  Kris is 16 years old. He is     of his father’s age. How old is Kris’ father?2)  Alicia was given a discount of $6. on a story book.  This was     of the original cost of the story     book.     a)  What was the original cost of the story book?    b)  How much did Alicia pay for the storybook?3)  Curtis picked 12 sweet peppers from the garden. This was     of the sweet peppers in the     garden.     a)  How many sweet peppers were there altogether?    b)  How many sweep peppers were left in the garden?4)  Ms. Stuart, a baker, used 4kg of flour for baking, which was     of what she had originally. How     much flour did Ms. Stuart have originally?131101916
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Write a word problem in which this model below can be used to represent and assist you in solving the answer.Share with your classmates. 13studentsPartWholeJo
u
r
n
a
l
Write the steps you need to use to solve a problem when you are given the value of one part of all the equal parts of the whole.
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Objectives:When I have completed this section, I will be able to: Division:Dividing a Whole Number by a FractionProblem: Mr. Wilson has 8 apples. He wants to divide each one into     to give to his students. He will have the exact number of pieces for his students when he divides them. How many students does Mr. Wilson have?We can write the number sentence as:8 ÷     = We can use drawings of apples to help us to solve the problem.  divide a whole number by a fraction and record the process describe patterns resulting from the division of whole numbers by fractions solve a variety of real-life problems involving division of whole numbers by        fractions1212
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24There are 8 apples.Each apple has to be divided (cut) into halves (   pieces).We then count the number of halves (   pieces).There are 16 pieces. The problem stated that when Mr. Wilson divided the apples, he would have the exact number of pieces to give to his students.This means that the number of pieces of apples is the same as the number of students in Mr. Wilson’s class.The answer is:  Mr. Wilson has 16 students.1212
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25Let us do another problem. Problem: The shopkeeper had 3kg of cheese. He divided it into   kg pieces. How many pieces of cheese did he get?We can write the number sentence as:3 ÷     = We can use a number line to solve the problem.There are 3 whole kilograms. Each kilogram is cut into     pieces. Divide each whole into quarters.There are 4 quarters in each whole. How many quarters are there in 3 wholes? There are 12 pieces of cheese. 00123123456789101112141414
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Divide each of the 3 wholes into quarters.ORHow many quarters are there altogether in the three wholes?There are 12 quarters.
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1) When we solved the number sentence, 3 ÷     using both the number line and models we got an answer of 12. Use the same model.Use one of the operations (+, -, x, ÷) to complete the number sentence.   3          4 = 12Which statement can you say is true?  


 1) Dividing 3 by    , gave the same answer as dividing 3 by 4.


   2) Dividing 3 by    , gave the same answer as multiplying 3 by 4.


141414K
e
y I
dea
When dividing a whole number by a unit fraction, we will get the same answer as when we multiply the whole number by the denominator of the unit fraction. 
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Try these problems. 1)  A candy company made 6kg of candy. They separated it into    kg portions. How many portions     did they get?2)  Mr. Patterson has 5 cups of sugar. He needs to put them into    cup portions. How many      cup portions will Mr. Patterson make?3)  Lisa has 8 large baked potatoes to serve in     portions. How many persons will she be able to     serve if she uses all of the portions?4)  Trent decided to study for 4 hours each day. He broke up his study periods into      hour cycles.     How many study cycles did Trent have in one day?5)  A church was distributing 50 kg of rice to less fortunate persons by dividing it into    kg     parcels. How many persons would the church have been able to give to if they used up all 50 kg?18Extr
a P
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e
1)  2  ÷ 2) 11  ÷       = 3)  9   ÷       =4)  3   ÷       =      5)  1   ÷       =16181517110=1313131412
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29Hin
t
Look at Polya’s strategies that we used in this section and decide which strategy/strategies you want to use to help you solve the problems. 
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Solve the following sets of problems. Use models if necessary.   Describe the pattern you observe for each set of solutions. Create and describe other patterns using dividing whole numbers by a unit fraction. A. 1    ÷        =  2    ÷        =      3    ÷        =      4    ÷        =      5    ÷        =      6    ÷        =      7    ÷        =      8    ÷        =      9    ÷        =      10   ÷        =110110110110110110110110110110B.  1    ÷        =   2    ÷        =       3    ÷        =       4    ÷        =       5    ÷        =       6    ÷        =       7    ÷        =       8    ÷        =       9    ÷        =       10   ÷        =      12121312121212121212











[image: background image]
31Jo
u
r
n
a
l
Your number story.   1) Think of a story that you will need to use dividing a whole number by a fraction.   2) Write your story and create your drawings to represent it.   3) Write your answer.   4) You and your classmates can share and solve one another’s story problems. ÷
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 To help with mastery:  Prior to beginning multiplication and division of fractions, students should review and        practice their skills of reducing fractions and changing improper fractions to mixed numbers.  Students should use a variety of models to solve the multiplication and division problems. Opportunities to explain their strategies should also be provided.
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SOLUTIONS
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Is there a rule that we can use?We can look for a pattern to see if there is a rule that I can use.       We already worked the following:3 x      =      or 1 Work out two more to see if there is a pattern that you can use to solve the problem.  2) 5 x     = Use repeated addition to solve each problem. Remember to change an improper fraction to a mixed number.     +     +     +     +      =      = 1 Our answer is     or 1   .2565W
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  3) 2 x     =      +      =       = 1 Our answer is     or 1 Now, look carefully at all three problems and their answers.Is there a pattern? Did you discover a pattern?You can discuss with your classmates.In all three questions, the denominator that we started with remained the same. If we multiplied our whole number by our numerator in the fraction, we would get the same answer that we got when we used repeated addition. 6767671275712757YE
S
NO
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If I multiply 3 x    , will my answer be different than if I multiply    x 3?       We already know that 3 x     =     or 1      x 3 =     x     =      or 1 Reason: The Commutative Property of Multiplication: The order in which we multiply numbers does not change the product.K
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1)  Mr. Ryan wants to cut lengths of rope of    metres each. He needs 5 pieces of rope.     How many metres of rope will he need?    5 x     =       x     =     = 3    = 3    Answer: 3   metres of rope2)  Ms. Jack has to put flour into    cups portions to give to her 15 students for cooking class.     How many cups of flour did Ms. Jack use in total?    15 x     =       x      =     = 12  or      x     =    = 12    Answer: 12 cups683445685168308683445151456051211514512131Sol
u
t
io
ns
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3)  Ellie eats     of a cup of cornflakes daily. The box of cornflakes contains a total of 27 cups.     How many days will Ellie take to finish the box of cornflakes?    27  x     =       x     =      = 18   or      x     =     = 18     Answer: 18 days4)  Samuel is training for sports day. He runs     kilometre every day.     How many kilometres will he run in 6 days?    6  x     =       x     =     = 4   = 4    or       x       =     = 4    (you can use the factor 2 to reduce the 6 and 10)    Answer: 4    kilometres23710232712354323271710617104210215181210151819161371051515
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1) 6    x        =             x        =      x     =     x     = 4      ( you can use the factor 3 to reduce 3 and 6)2) 3  x      =    x    =     = 2     3) 8  x      =     x    =    = 1   = 1     or     8 x    =    x    =    = 12361Sol
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2361232121343134941416811686261643132181416313
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1.  Write the multiplication sentence that is represented on the number line.2.  Use the model below to complete the multiplication sentences.Cha
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0123420 x
45634x
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Timothy has 21 toy cars of which     of them are blue. How many toy cars are blue? What is the question asking you to do? 1)  First draw all the cars.        2)  Can you place the cars into 7 equal groups?     Make your groups.     Each group will have     of the total number of cars.3)  Colour one of the groups of cars blue.    How many cars did you colour blue?     Answers:     Each group has 3 cars.     There are 3 blue cars.1717
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Timothy has 21 toy cars of which     of them are blue. How many toy cars are blue? The question said, ‘    of them are blue’.Therefore, you can write     of 21 cars are blue.Can you solve without drawing the cars? Answer: You can use the operation Multiplication to solve the problem.    of 21 is the same as     x 21  Remember: Write 21 as a fraction:    , to work out your answer. Therefore,     means 21 divided by 1. Any number divided by 1 gives you the same number as the answer.This is because, the number 1 is the identity number for multiplication and division. Multiply your numerator by your numerator and your denominator by your denominator. Remember to reduce when you can.     x     =     = 3     or       x     =      = 3There are 3 blue cars. 171717171721117211217172113121131
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1)     of 30 =         x     =      = 5    or          x     =      = 5Sol
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1) David had 30 mangoes. He gave     of them to his neighbour.    a) How many mangoes did David give away?            of 30 =              x     =     = 9         or       x      =     = 9           Answer: David gave away 9 mangoes.    b) How many mangoes does he have left?      30 – 9 = 21 mangoes2) Five ninths of some pawpaws are ripe. If there are 36 pawpaws, how many of them are ripe?           of 36 =            x      =      = 20 pawpaws       or       x       =      = 20 pawpaws        (you can use the factor 9 to reduce 9 and 36)       Answer: 20 pawpaws310310310301900103103019131595936118095936120141
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3) Michela has 18 laps to walk around the playing field. She has already completed     of the laps.          How many laps has Michela completed?         of 18 =          x     =      = 12    or      x      =      = 12          (you can use the factor 6 to reduce 6 and 18)      Answer: 12 laps4) In the school’s library there were 56 books available for the students of the Standard 2 class    to borrow. Six sevenths of the books were borrowed.    a) How many books were borrowed?           of 56 =           x      =       = 48    or           x     =     = 48      Answer: 48 books were borrowed     b) How many books were still available?      56 – 48       Answer: 8 books were still available4646461817264618112131676756133676756148181
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5) Ian planted 45 seedlings. Two ninths of them were pigeon peas and the rest were corn.    a) How many seedlings were pigeon peas?          x 45 =            x     =      = 10      or       x       =      = 10            Answer: 10 seedlings were pigeon peas   b) How many seedlings were corn?      45 – 10 = 35       Answer: 35 seedlings were corn29294519092945110151
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1)        of                =                                                            2)       of                 = 3)       of                 =B.1)        of 36 =          x      = 24      (you can use the factor 3 to reduce 3 and 36)475826      =232336121
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2)       of 35 =          x      = 28       (you can use the factor 5 to reduce 5 and 35)3)       of 44 =          x      = 22       (you can use the factor 2 to reduce 2 and 22) 4)        of 60 =          x      = 24       (you can use the factor 10 to reduce 10 and 60)45124104535112441410601
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Solve the following sets of problems. Use models if necessary.      In Investigative Task A each answer increased by    .       In Investigative Task B each answer increased by    .A. 5    x        =  5    x        =      5    x        =      5    x        =      5    x        =      5    x        =      5    x        =      5    x        =      5    x        =      5    x        =1102103104105106107108109101010B. 12    x        =  12    x        =      12    x        =      12    x        =      12    x        =      12    x        =      12    x        =      12    x        =      1828384858687888121121212231234124512131246127912101212121
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1)  Kris is 16 years old. He is     of his father’s age. How old is Kris’ father?Each part is 16.There are 3 parts.Therefore, the total is 16 x 3 = Answer: 48 years2)  Alicia was given a discount of $6 on a story book.  This was     of the original cost of    the story book.     a)  What was the original cost of the story book?    b)  How much did Alicia pay for the storybook?13110166131313110
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     a)  Every part is 6         There are 10 parts         Therefore, the original cost was 6 x 10         Answer: $60    b)  $60 - $6 = $543)  Curtis picked 12 sweet peppers from the garden. This was     of the sweet peppers    in the garden.     a)  How many sweet peppers were there altogether?    b)  How many sweep peppers were left in the garden?    a)  Every part is 12        There are 9 parts        Therefore, the whole is 12 x 9 = 108       Answer: 108 sweet peppersb)Sweet peppers left: 108 – 12 = 96 peppers left in the garden.191219
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4)  Ms. Stuart, a baker, used 4kg of flour for baking, which was     of what she had originally. How     much flour did Ms. Stuart have originally?    Every part is 4kg.    There are 6 parts.    The whole amount of flour: 4kg x 6 = 24kg164 kg16
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1) When we solved the number sentence, 3 ÷     using both the number line and models we got an     answer of 12.    Use the same model.   Use one of the operations (+, -, x, ÷) to complete the number sentence.       Answer:  3          4 = 12Which statement can you say is true?    1) Dividing 3 by    , gave the same answer as dividing 3 by 4.   2) Dividing 3 by    , gave the same answer as multiplying 3 by 4.   The answer is statement 2.    When  we divided the whole number by the unit fraction, we got the same answer as when we    multiplied the whole number by the denominator of the unit fraction.    In Module 7 we will investigate further why we got the same answer and learn more about    dividing whole numbers by fractions. 141414x
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1)  A candy company made 6kg of candy. They separated it into    kg portions. How many portions     did they get?    6 ÷      =       x     = 48    Answer: 48kg 2)  Mr. Patterson has 5 cups of sugar. He needs to put them into    cup portions. How many      cup portions will Mr. Patterson make?    5 ÷      =       x     = 15    Answer: 15 cups3)  Lisa has 8 large baked potatoes to serve in     portions. How many persons will she be able to     serve if she uses all of the portions?    8 ÷      =       x     = 32    Answer: 32 persons1813Sol
u
t
io
n
1861811351311314148141
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4)  Trent decided to study for 4 hours each day. He broke up his study periods into    hour cycles.     How many study cycles did Trent have in one day?    4 ÷      =         x     = 12    Answer: 12 study cycles5)  A church was distributing 50 kg of rice to less fortunate persons by dividing it into    kg     parcels. How many persons would the church have been able to give to if they used up all 50 kg?    50 ÷     =        x     = 100    Answer: 100 persons13121341311250121
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1)  2   ÷       =       x      = 12 2) 11   ÷       =       x      = 55 3)  9  ÷       =       x      = 634)  3  ÷       =              x      = 305)  1   ÷       =        x      = 8161815171102161111519171311011181
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     In Investigative Task A dividing the whole numbers by      gave the same answers as when we multiplied the whole numbers by 10. In Investigative Task B dividing the whole numbers by      gave the same answers as when we multiplied the whole numbers by 2. A. 1    ÷        =  10  2    ÷        =  20      3    ÷        =  30      4    ÷        =  40      5    ÷        =  50      6    ÷        =  60      7    ÷        =  70      8    ÷        =  80      9    ÷        =  90      10   ÷        =  100110110110110110110110110110110B.  1    ÷        =  2   2    ÷        =  4       3    ÷        =  6       4    ÷        =  8       5    ÷        =  10       6    ÷        =  12       7    ÷        =  14       8    ÷        =  16       9    ÷        =  18       10   ÷        =  20      1212131212121212121211012
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Here is one example of a model for 2 ÷     = 20 These are two wholes. Each whole is divided into tenths.When you count all the parts, there are 20 tenths.110
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var canvas, ctx, flag = false,

prevX = 0,

currX = 0,

prevY = 0,

currY = 0,

dot_flag = false;

var count=0;



var x = "black",

//var x = "#FFFFFF",

y = 2;



function init() {

    setTimeout(function () 

    {

       

	    var mouseIsDown=0;

    canvas = document.getElementById('can');

    ctx = canvas.getContext("2d");

    w = canvas.width;

    h = canvas.height;



    canvas.addEventListener("mousedown", mouseDown, false);

    canvas.addEventListener("mousemove", mouseXY, false);

    canvas.addEventListener("mouseup", mouseUp, false);

    canvas.addEventListener("touchstart", touchDown, false);

    canvas.addEventListener("touchmove", touchXY, true);

    canvas.addEventListener("touchend", touchUp, false);

	}, 100);

}



function mouseUp(e) {

    e.stopPropagation();

    mouseIsDown = 0;

    mousefindxy('up', e);

}



function mouseDown(e) {

    e.stopPropagation();

    mouseIsDown = 1;



    mousefindxy('down', e);

    //document.getElementById('cake1').style.display="block";

}



function mouseXY(e) {

    e.stopPropagation();

    if (!e)

        var e = event;

    canX = e.pageX - canvas.offsetLeft;

    canY = e.pageY - canvas.offsetTop;

    mousefindxy('move', e);

}



function touchUp(e) {

    e.stopPropagation();

    if (!e)

        var e = window.event || e; 

    mouseIsDown = 0;

    findxy('up', e);

}



function touchDown(e)

{

    e.stopPropagation();

    if (!e)

        var e = window.event;

    e.preventDefault();

    mouseIsDown = 1;

    findxy('down', e);

    count++;

    if (count>5)

    {

        document.getElementById('can').style.display="none";

   //document.getElementById('cake1').style.display="block";

    }

}

function touchXY(e) {

    e.stopPropagation();

    if (!e)

        var e = window.event || e; 

    e.preventDefault();

    findxy('move', e);

}







function showPos() {

    ctx.font = "24pt Helvetica";

    ctx.textAlign = "center";

    ctx.textBaseline = "middle";

    ctx.fillStyle = "rgb(64,255,64)";

    var str = canX + ", " + canY;

    if (mouseIsDown)

        str += " down";

    if (!mouseIsDown)

        str += " up";

    ctx.clearRect(0, 0, canvas.width, canvas.height);

            // draw text at center, max length to fit on canvas

    ctx.fillText(str, canvas.width / 2, canvas.height / 2, canvas.width - 10);

            // plot cursor

    ctx.fillStyle = "white";

    ctx.fillRect(canX -5, canY -5, 10, 10);

}









function color(obj) {

    switch (obj.id) {

        case "lightviolet":

            x="#690468";

            break;

        case "darkblue":

            x="#0000FF";

            break;

        case "darkpink":

            x="#FF33FE";

            break;

        case "lightblue":

            x = "#3FDBC5";

            break;

        case "lightgreen":

            x = "#008000";

            break;

        case "lightred":

            x = "#FF0000";

            break;

        case "lightyellow":

            x = "#FFFF00";

            break;

        case "lightorange":

            x = "#FFA500";

            break;

		case "orange":

            x = "#FFA500";

            break;

        case "lightblack":

            x = "#070707";

            break;

        case "lightpink":

            x = "#FFC0CB";

            break;

        case "lightbrown":

            x = "#964B00";

            break;

        case "lightpurple":

            x = "#800080";

            break;

		case "purple":

            x = "#6f2DA8";

            break;

        case "pink":

            x = "white";

            break;

        case "gray":

			x="#808080";

			break;

		case "maroon":

			x="#800000";

			break;

		case "green":

			x="#00FF00";

			break;

		case "blue":

			x="#00FFFF";

			break;

		case "red":

			x="red";

			break;

		case "yellow":

			x="yellow";

			break;

		case "brown":

			x="#964B00";

			break;

		case "darkbrown":

			x="#65350F";

			break;

		case "black":

			x="black";

			break;



		case "white":

            x = "white";

            break;

		case "black1":

			x="black";

			break;



		case "white1":

            x = "white";

            break;



    }

 //alert(x);

 /*if (x == "white") 

 y = 14;

 else y = 2;

 */

}

function penthick(thick)

{

//    y=thick;

y=2

}



function draw() {

	//alert(x);

    if (x=="white")

    {

        ctx.clearRect(prevX,prevY,25,25);

    }

    else

    {

     //   ctx.clearRect(prevX,prevY,25,25);



    ctx.beginPath();

    ctx.moveTo(prevX, prevY);

    ctx.lineTo(currX, currY);

    ctx.strokeStyle = x;

    ctx.lineWidth = y;

    ctx.stroke();

    ctx.closePath();

    }

}



function erase() {

    var m = confirm("Want to clear");

    if (m) {

        ctx.clearRect(0, 0, w, h);

        document.getElementById("canvasimg").style.display = "none";

    }

}



function save() {

    document.getElementById("canvasimg").style.border = "2px solid";

    var dataURL = canvas.toDataURL();

    document.getElementById("canvasimg").src = dataURL;

    document.getElementById("canvasimg").style.display = "inline";

}



function mousefindxy(res, e) {

    e.stopPropagation();

    if (res == 'down') {

        prevX = currX;

        prevY = currY;

        currX = e.pageX - canvas.offsetLeft;

        currY = e.pageY - canvas.offsetTop;

        flag = true;

        dot_flag = true;

        if (dot_flag) {

            ctx.beginPath();

            ctx.fillStyle = x;

            ctx.fillRect(currX, currY, 2, 2);

            ctx.closePath();

            dot_flag = false;

        }

    }

    if (res == 'up' || res == "out") {

        flag = false;

    }

    if (res == 'move') {



        if (flag) {

            prevX = currX;

            prevY = currY;

            currX = e.pageX - canvas.offsetLeft;

            currY = e.pageY - canvas.offsetTop;

            draw();

        }

    }

}





function findxy(res, e) {

    e.stopPropagation();

    if (res == 'down') {

        prevX = currX;

        prevY = currY;

        currX = e.targetTouches[0].pageX - canvas.offsetLeft;

        currY = e.targetTouches[0].pageY - canvas.offsetTop;

        flag = true;

        dot_flag = true;

        if (dot_flag) {

            ctx.beginPath();

            ctx.fillStyle = x;

            ctx.fillRect(currX, currY, 2, 2);

            ctx.closePath();

            dot_flag = false;

        }

    }

    if (res == 'up' || res == "out") {

        flag = false;

    }

    if (res == 'move') {



        if (flag) {

            prevX = currX;

            prevY = currY;

            currX = e.targetTouches[0].pageX - canvas.offsetLeft;

            currY = e.targetTouches[0].pageY - canvas.offsetTop;

            draw();

        }

    }

}

function clearpage()

{

    var canvas = document.getElementById('can');

    var ctx = canvas.getContext("2d");

    ctx.clearRect(0, 0, canvas.width, canvas.height);



}



function mycolor(color)

{

    x="#E75480";

}



function showColor()

{

    document.getElementById("colorbox").style.display="block";

}
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		}

		else

		{

			document.getElementById(myid).style.color="black";

			document.getElementById(myid).style.border = "0em solid black";

			document.getElementById('correctans3').style.display="none";

			document.getElementById('wrongans3').style.display="block";

			document.getElementById('pg17audio02').play();

		}

	}

	else if (myid=="pg17tb6")

	{

		if (currtext=="6")

		{

			document.getElementById(myid).style.color="red";

			document.getElementById(myid).style.border = "0em solid red";

			document.getElementById('correctans3').style.display="block";

			document.getElementById('wrongans3').style.display="none";

			document.getElementById('pg17audio01').play();

		}

		else

		{

			document.getElementById(myid).style.color="black";

			document.getElementById(myid).style.border = "0em solid black";

			document.getElementById('correctans3').style.display="none";

			document.getElementById('wrongans3').style.display="block";

			document.getElementById('pg17audio02').play();

		}

	}

}




OEBPS/js/page12.js
function validate(mytext,myid)

{

		document.getElementById('pg12audio01').pause();

	document.getElementById('pg12audio02').pause();

	document.getElementById('pg12audio01').currentTime=0;

	document.getElementById('pg12audio02').currentTime=0;



	var currtext=mytext.toLowerCase();

	var mynumber=myid.replace("pg12tb","");

	console.log(currtext + "--" + myid);

	if (myid=="pg12tb1")

	{

		if (currtext=="4")

		{

			document.getElementById(myid).style.color="red";

			document.getElementById(myid).style.border = "0em solid red";

			document.getElementById('correctans1').style.display="block";

			document.getElementById('wrongans1').style.display="none";

			document.getElementById('pg12audio01').play();

			

		}

		else

		{

			document.getElementById(myid).style.color="black";

			document.getElementById(myid).style.border = "0em solid black";

			document.getElementById('correctans1').style.display="none";

			document.getElementById('wrongans1').style.display="block";

			document.getElementById('pg12audio02').play();

		}

	}

	else if (myid=="pg12tb2")

	{

		if (currtext=="5/6")

		{

			document.getElementById(myid).style.color="red";

			document.getElementById(myid).style.border = "0em solid red";

			document.getElementById('correctans2').style.display="block";

			document.getElementById('wrongans2').style.display="none";

			document.getElementById('pg12audio01').play();

			document.getElementById('pg12audio01').play();

		}

		else

		{

			document.getElementById(myid).style.color="black";

			document.getElementById(myid).style.border = "0em solid black";

			document.getElementById('correctans2').style.display="none";

			document.getElementById('wrongans2').style.display="block";

			document.getElementById('pg12audio02').play();

			document.getElementById('pg12audio02').play();

		}

	}

	else if (myid=="pg12tb3")

	{

		if (currtext=="3/4")

		{

			document.getElementById(myid).style.color="red";

			document.getElementById(myid).style.border = "0em solid red";

			document.getElementById('correctans3').style.display="block";

			document.getElementById('wrongans3').style.display="none";

			document.getElementById('pg12audio01').play();

			document.getElementById('pg12audio01').play();

		}

		else

		{

			document.getElementById(myid).style.color="black";

			document.getElementById(myid).style.border = "0em solid black";

			document.getElementById('correctans3').style.display="none";

			document.getElementById('wrongans3').style.display="block";

			document.getElementById('pg12audio02').play();

			document.getElementById('pg12audio02').play();

		}

	}

}
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OEBPS/js/page08.js
function validate2(myid)

{

	document.getElementById('pg08audio01').pause();

	document.getElementById('pg08audio02').pause();

	document.getElementById('pg08audio01').currentTime=0;

	document.getElementById('pg08audio02').currentTime=0;

	document.getElementById('cb1').style.outline = "0em solid black";

	document.getElementById('cb2').style.outline = "0em solid black";



	if (myid =="cb1")

	{

		document.getElementById('correctans').style.display="block";

		document.getElementById('wrongans').style.display="none";

		document.getElementById(myid).style.outline = "0.2em solid red";

		document.getElementById('pg08audio01').play();

	}

	else

	{

		document.getElementById(myid).style.outline = "0.2em solid black";

		document.getElementById('correctans').style.display="none";

		document.getElementById('wrongans').style.display="block";

		document.getElementById('pg08audio02').play();

	}

	

}
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OEBPS/js/page27.js
function validate(mytext,myid)

{

	var currtext=mytext.toLowerCase();

	var mynumber=myid.replace("pg27tb","");

	console.log(currtext + "--" + myid);

	if (myid=="pg27tb1")

	{

		if (currtext=="x")

		{

			document.getElementById(myid).style.color="red";

			document.getElementById(myid).style.border = "0em solid red";

		}

		else

		{

			document.getElementById(myid).style.color="black";

			document.getElementById(myid).style.border = "0em solid black";

		}

	}

	else if (myid=="pg27tb2")

	{

		if (currtext=="5/6")

		{

			document.getElementById(myid).style.color="red";

			document.getElementById(myid).style.border = "0em solid red";

			document.getElementById('correctans2').style.display="block";

			document.getElementById('wrongans2').style.display="none";

			document.getElementById('pg27audio01').play();

			document.getElementById('pg27audio01').play();

		}

		else

		{

			document.getElementById(myid).style.color="black";

			document.getElementById(myid).style.border = "0em solid black";

			document.getElementById('correctans2').style.display="none";

			document.getElementById('wrongans2').style.display="block";

			document.getElementById('pg27audio02').play();

			document.getElementById('pg27audio02').play();

		}

	}

	else if (myid=="pg27tb3")

	{

		if (currtext=="3/4")

		{

			document.getElementById(myid).style.color="red";

			document.getElementById(myid).style.border = "0em solid red";

			document.getElementById('correctans3').style.display="block";

			document.getElementById('wrongans3').style.display="none";

			document.getElementById('pg27audio01').play();

			document.getElementById('pg27audio01').play();

		}

		else

		{

			document.getElementById(myid).style.color="black";

			document.getElementById(myid).style.border = "0em solid black";

			document.getElementById('correctans3').style.display="none";

			document.getElementById('wrongans3').style.display="block";

			document.getElementById('pg27audio02').play();

			document.getElementById('pg27audio02').play();

		}

	}

}



function validate2(myid)

{

	document.getElementById('cb1').style.outline = "0em solid black";

	document.getElementById('cb2').style.outline = "0em solid black";

	document.getElementById('cb1').style.color="rgb(28,117,186)";

	document.getElementById('cb2').style.color="rgb(28,117,186)";

	console.log(myid);

	if (myid =="cb2")

	{

		document.getElementById(myid).style.border = "0.2em solid red";

		document.getElementById(myid).style.color="red";

	}

	else

	{

		console.log("1");

		document.getElementById(myid).style.border = "0.2em solid black";

			

	}

	

}
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OEBPS/js/page31.js
var mycurraudio="audio1";

function playaudio()

{

    document.getElementById('stop').style.display="none";

	document.getElementById('play').style.display="block";

	document.getElementById("pg31audio01").pause();

	document.getElementById("pg31audio01").currentTime=0;

	document.getElementById("pg31audio01").play();

	mycurraudio="audio1";

	document.getElementById("pg31audio01").addEventListener('ended', function() {

		document.getElementById('stop').style.display="block";

		document.getElementById('play').style.display="none";

	},false);

}





function stopaudio()

{

	document.getElementById('stop').style.display="block";

	document.getElementById('play').style.display="none";

	document.getElementById('pg31audio01').pause();

	document.getElementById("pg31audio01").currentTime=0;

}
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OEBPS/js/page35.js
function validate2(myid)

{

	document.getElementById('pg35audio01').pause();

	document.getElementById('pg35audio02').pause();

	document.getElementById('pg35audio01').currentTime=0;

	document.getElementById('pg35audio02').currentTime=0;

	document.getElementById('cb1').style.outline = "0em solid black";

	document.getElementById('cb2').style.outline = "0em solid black";



	if (myid =="cb1")

	{

		document.getElementById('correctans').style.display="block";

		document.getElementById('wrongans').style.display="none";

		document.getElementById(myid).style.outline = "0.2em solid red";

		document.getElementById('pg35audio01').play();

	}

	else

	{

		document.getElementById(myid).style.outline = "0.2em solid black";

		document.getElementById('correctans').style.display="none";

		document.getElementById('wrongans').style.display="block";

		document.getElementById('pg35audio02').play();

	}

	

}
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